Gallup Omnibus Data 1963, omnibus nr. 10

DDA-1257

Indholdsfortegnelse

Variabelliste

V1 6310 DDA STUDY NUMBER

V2 6310 YEAR

Vv 10 OMNIBUS NUMBER

V4 6310 SEQUENCE NUMBER

V5 6310 WEIGHT VARIABLE

V6 6310 URBANIZATION

V7 6310 SEX

V8 6310 AGE

V9 6310 MARITAL STATUS

V10 6310 OCCUPATION FAM.HEAD
V11 6310 WAY INCOME FAM.HEAD
V12 6310 INCOME FAMILY HEAD
V13 6310 INCOME FAMILY

V14 6310 OCCUPATION SUPPORT.
V15 6310 EDUCATION

\A 10 CHILDREN UNDER 2 Y.
V17 6310 HOUSEH.HUSBAND
V18 6310 HOUSEH.HOUSEWIFE
V19 6310 HOUSEH.CHILD 0-7
V20 6310 HOUSEH.CHILD 8-14
V21 6310 H EH.ADULT 15-17
V22 6310 HOUSEH.OTHER ADULT
V23 6310 NUMBER OF ADULTS
V24 6310 NUMBER CHILDR. <15
V2 10 SIZE OF H EHOLD
V26 6310 SOCIAL GROUP

V27 6310 OCCPUATION HOUSEW.
V28 6310 TYPE OF HOME

V29 6310 POSSESS GARDEN

Vv 10 P E MMERH E
V31 6310 VOTE LAST ELECTION
V32 6310 PARTY AFFILIATION
V33 6310 SOC.DEM.-VENSTRE GV
V34 631 ALITION REASON
V35 6310 GOVERNMENT RESIGN
V36 6310 WHY RESIGN

V37 6310 WHY NOT RESIGN

Vv 10 ATT.FINANCIAL POLIC
V39 6310 FINANC.POL.INCORREC

Variabler

e V16310 DDA STUDY NUMBER

m Double (0 decimaler)
[ |

Gyldige 1258
Manglende 0

Revision: 395



Minimum 1257

Maximum 1257
Gennemsnit 1257
Median 1257

Standardafvigelse 0

e V26310 YEAR
= Double (0 decimaler)
[ ]

Gyldige 1258
Manglende 0
Minimum 1963
Maximum 1963
Gennemsnit 1963
Median 1963

Standardafvigelse 0

e V3 6310 OMNIBUS NUMBER
The sequence number of the survey within the year. This 00000700 variable has the value 10 for all respondents. It
was gene00000800 rated by the DDA.

o Omnibus number

= Double (0 decimaler)
[ |

Gyldige 1258
Manglende 0
Minimum 10
Maximum 10
Gennemsnit 10
Median 10

Standardafvigelse 0

e V4 6310 SEQUENCE NUMBER
The sequence number of the respondent within the data 00001000 file. The variable has been generated by the
DDA. 00001100

o Sequence number

= Double (0 decimaler)
[ |

Gyldige 1258
Manglende 0
Minimum 1
Maximum 1258
Gennemsnit 630
Median 630
Standardafvigelse 363

e V56310 WEIGHT VARIABLE

Originally, the data material was card weighted, i.e. some 00001500 cases occurred more than once. The duplicate
cases have been removed (on the basis of a comparison of the entire case after conversion to character format),
and a number has been inserted in the 'original' case indicating the number of times it occurred in the card
weighted data file.

o Duplicate indicator/weight variable

% MD% Antal Kode Kategori

60 60 755 1 case not
duplicated

31 31 391 2 one
duplicate

4 4 45 3 two
duplicates



5 5 59 4 three

duplicates
1 1 7 6 five

duplicates
0 0 1 8 seven

duplicates

100 100 1258
Svarprocent: 100

e V6 6310 URBANIZATION
Provincial towns comprise all towns and suburbs (excl. the 00002910 capital suburb in the metropolitan area) with
roughly 500-600 00002920 households. All other communities are rural. 00002930
o Questions occurring in al

o 1. Urbanization

% MD% Antal Kode Kategori
21 21 263 1 capital
8 8 101 2 suburbs

32 32 399 3 provincial
towns

39 39 495 4 rural
districts

100 100 1258
Svarprocent: 100

e V7 6310 SEX
o Questions occurring in al

o 8A. Sex

% MD¢% Antal Kode Kategori
48 48 601 1 man
52 52 656 2 woman
0 0 1 8 error
100 100 1258

Svarprocent: 100

e V8 6310 AGE
) tions occurring in al

o 8B. Age

% MD% Antal Kode Kategori
6 6 77 115-17

years
9 9 107 2 18-24
years
9 9 119 3 25-30
years
17 17 208 4 31-40
years
20 20 251 541-50
years
17 17 213 6 51-60
years
22 22 282 7 61 years
or more

0 1 8
100 100 1258

Svarprocent: 100

e V9 6310 MARITAL STATUS



o Questions occurring in al
o 8C. Marital status

% MD% Antal Kode Kategori

17 17 210 1 single

73 73 915 2 married

11 11 133 3 separated,
divorced

or
widowed

100 100 1258
Svarprocent: 100

e V10 6310 OCCUPATION FAM.HEAD

A skilled worker is a craftsman or artisan with a broad 00005310 education (usually 4 years). Industrial workers (in
Denmark 00005311 'special workers') with a short and narrow education 00005312 directed for a special job are
coded unskilled. 00005320

) ion rring in al

o 9A. Occupational status for head of family

% MD% Antal Kode Kategori
15 15 192 1 worker,
unskilled
10 10 126 2 worker,
skilled
7 7 92 3 salaried
employees,
lower grade
7 7 82 4 other
salaried
persons
7 7 83 5 farmer,
independent
7 7 86 6 other
independents
28 28 356 7 housewife,
not self-
supporting
12 12 154 8 old age
pensioners,
disabled
pensioners
7 7 84 9 other
persons
without
occupation
0 3 88

100 100 1258
Svarprocent: 100

e V11 6310 WAY INCOME FAM.HEAD
o Questions occurring in al

o 9B. Way of income of head of family

% MD% Antal Kode Kategori

21 31 266 1 paid per
hour,
day, week

29 42 360 2 paid per
month

18 27 230 3 other way
of pay

32 402 9 Uoplyst

100 100 1258



Svarprocent: 68

e V12 6310 INCOME FAMILY HEAD

Income is the total money-income (wage or salary paid) before 00006410 any deduction for tax payment.
00006420

o Questions occurring in al

o 10A. Income of head of family

% MD% Antal Kode Kategori
32 32 400 1no
income

30 30 381 2 less than
12.000
kroner

16 16 205 312.000 -
17.999
kroner

8 8 98 4 18.000 -
25.999
kroner

6 6 70 526.000
kroner or
more

8 8 102 6 don't
know,
refuse to
answer

0 2 8

100 100 1258

Svarprocent: 100

e V13 6310 INCOME FAMILY

Income is the total money-income (wage or salary paid) before 00006410 any deduction for tax payment.
00006420

o Questions occurring in al

o 10B. Income of family

% MD% Antal Kode Kategori

23 23 289 1 less than
12.000
kroner

23 23 295 212.000 -
17.999
kroner

16 16 205 318.000 -
25.999
kroner

21 21 262 4 26.000
kroner or
more

16 16 207 5 don't
know,
refuse to
answer

100 100 1258

Svarprocent: 100

e V14 6310 OCCUPATION SUPPORT.

A skilled worker is a craftsman or artisan with a broad 00005310 education (usually 4 years). Industrial workers (in
Denmark 00005311 'special workers') with a short and narrow education 00005312 directed for a special job are
coded unskilled. 00005320

o Questions occurring in al

o 11A. Supporters occupation



% MD% Antal Kode Kategori

20 20 248 1 worker,
unskilled

15 15 184 2 worker,
skilled

6 6 74 3 salaried

employees,
lower grade

12 12 155 4 other
salaried
persons

15 15 184 5 farmer,
independent

13 13 169 6 other
independents

0 0 0 7 housewife,

not self-
supporting

15 15 194 8 old age
pensioners,
disabled
pensioners

4 4 47 9 other
persons
without
occupation

0 2 88
0 1 99 Uoplyst
100 100 1258

Svarprocent: 100

e V15 6310 EDUCATION
o Questions occurring in al

o 11B. Schooling

% MD% Antal Kode Kategori

78 79 987 1 elementary
school

17 17 208 2 middle
school/'real'-
examination

5 5 61 3 secondary
school/university

0 2 8
100 100 1258

Svarprocent: 100

e V16 6310 CHILDREN UNDER 2.
o Questions occurring in al

o 12A. Children younger than 2 years

% MD% Antal Kode Kategori

9 9 119  1yes
90 91 1138  2no
0 1 8

100 100 1258

Svarprocent: 100

e V17 6310 HOUSEH.HUSBAND

o Questions occurrin

in al

o 12B. Composition of household Husband



% MD¢% Antal Kode Kategori
12 12 148 0 not

mentioned
88 88 1109 1 mentioned
0 1 9 Uoplyst

100 100 1258

Svarprocent: 100

e V18 6310 HOUSEH.HOUSEWIFE
) ion rring in al

o 12B. Composition of household Housewife

% MD% Antal Kode Kategori

5 5 64 0 not
mentioned
95 95 1193 1 mentioned
0 1 9 Uoplyst

100 100 1258

Svarprocent: 100

e V19 6310 HOUSEH.CHILD 0-7
o Questions occurring in al

o 12B. Composition of household Children 0-7 years

% MD% Antal Kode Kategori
76 76 954 0 not

mentioned
24 24 303 1 mentioned
0 1 9 Uoplyst

100 100 1258

Svarprocent: 100

e V20 6310 HOUSEH.CHILD 8-14
o Questions occurring in al

o 12B. Composition of household Children 8-14 years

% MD% Antal Kode Kategori
77 77 967 0 not

mentioned
23 23 290 1 mentioned
0 1 9 Uoplyst

100 100 1258

Svarprocent: 100
e V21 6310 HOUSEH.ADULT 15-17

o Questions occurring in al

o 12B. Composition of household Adults 15-17 years

% MD% Antal Kode Kategori
81 81 1022 0 not

mentioned
19 19 235 1 mentioned
0 1 9 Uoplyst

100 100 1258

Svarprocent: 100



V22 6310 HOUSEH.OTHER ADULT
o Questions occurring in al

o 12B. Composition of household Other adults

% MD% Antal Kode Kategori
74 74 936 0 not

mentioned
26 26 321 1 mentioned
0 1 9 Uoplyst

100 100 1258

Svarprocent: 100

e V23 6310 NUMBER OF ADULTS
o Questions occurring in al

o 12C. Number of adults older than 15 years

% MD% Antal Kode Kategori
11 11 142 11 adult
54 54 676 2 2 adults
24 24 297 3 3 adults

11 11 142 4 4 adults
or more

0 1 8
100 100 1258

Svarprocent: 100

e V24 6310 NUMBER CHILDR. <15
o Questions occurring in al

o 13A. Number of children younger than 15 years

% MD% Antal Kode Kategori

20 51 255 11 child

13 34 168 2 2 children
4 10 51 3 3 children

2 5 26 4 4 children
or more

60 758 9 Uoplyst
100 100 1258

Svarprocent: 40

e V25 6310 SIZE OF HOUSEHOLD
o Questions occurring in al

o 13B. Size of household

% MD¢% Antal Kode Kategori
11 11 137 11 person

28 28 349 2 2 persons
27 27 335 3 3 persons
21 21 269 4 4 persons

13 13 165 5 5 persons
or more

0 2 8
0 1 9 Uoplyst
100 100 1258

Svarprocent: 100

e V26 6310 SOCIAL GROUP
o Questions occurring in al

o 13C. Social group



% MD% Antal Kode Kategori
67 67 839 11 (lower

class)
29 30 370 2 II (middle
class)
3 3 42 3 III (upper
class)
0 1 8
0 6 9 Uoplyst

100 100 1258
Svarprocent: 99

e V27 6310 OCCPUATION HOUSEW.
o Questions occurring in al

o 14A. Housewifes occupation

% MD% Antal Kode Kategori

5 5 59 1no
housewife
74 75 937 2 not self-
supporting

0 0 1 3 self-
supporting,
unspecified

11 11 134 4 self-

supporting,
full-time

10 10 120 5 self-
supporting,
part-time

0 4 8

0 3 9 Uoplyst

100 100 1258

Svarprocent: 99
e V28 6310 TYPE OF HOME
) tion rring in al

o 14B. Type of home

% MD% Antal Kode Kategori
40 40 504 1 own

house,
rented
house
14 15 182 2 own farm,
rented
farm
8 8 101 3aflatina
house
36 36 447 4 aflatina
block
1 1 18 5 lodgers
3 8
0 3 9 Uoplyst

100 100 1258
Svarprocent: 100

e V29 6310 POSSESS GARDEN
o Questions occurring in al

o 14C. Is the family in possession of: a garden?

% MD% Antal Kode Kategori



3 4 35 0 not

mentioned
62 9% 776 1 mentioned
36 447 9 Uoplyst

100 100 1258

Svarprocent: 64

e V30 6310 POSSESS SUMMERHOUSE
o Questions occurring in al

o 14C. Is the family in possession of: a summer house?

% MD¢% Antal Kode Kategori
58 90 729 0 not

mentioned
7 10 82 1 mentioned
36 447 9 Uoplyst

100 100 1258

Svarprocent: 64

e V31 6310 VOTE LAST ELECTION
o ion rring in al

o 15-16. Did you vote at the latest general election? - For which party?

% MD% Antal Kode Kategori

30 30 378 1 Socialdemokratiet
3 3 34 2 Radikale Venstre
8 8 95 3 Konservative

13 13 161 4 \Venstre

16 5 Retsforbundet
1 6 Kommunister
5 7 De Uafhaengige

40 8 Socialistisk
Folkeparti

0 0 3 9 Slesvigsk Parti
3 3 43 10 do not remember
14 14 174 11 no right of voting
4 4 49 12 would not vote
3 3 36 13 other reasons
17 17 219 14 refuse to answer
0 3 88
0 1 99 Uoplyst
100 100 1258
Svarprocent: 100

W O O =~
W o O+

e V32 6310 PARTY AFFILIATION
o Questions occurring in al

o 16-17. For which party would you vote in case of a general election tomorrow?

% MD¢% Antal Kode Kategori

27 27 335 1 Socialdemokratiet
2 2 22 2 Radikale Venstre
8 8 96 3 Konservative

12 12 155 4 Venstre

1 11 5 Retsforbundet

0 1 6 Kommunister

1 7 7 De Uafhaengige

3

43 8 Socialistisk
Folkeparti

0 0 2 9 Slesvigsk Parti

W = O =



10 10 125 10 no right of voting
2 2 30 11 will not vote
14 14 179 12 don't know which
party

3 3 35 13 don't know
whether to vote

or not
17 17 211 14 refuse to answer
0 4 88
0 2 99 Uoplyst

100 100 1258
Svarprocent: 100

e V33 6310 SOC.DEM.-VENSTRE GV
o Special guestions, omnibu

o 70. In case the Social-Democrats and Venstre combined should have a majority in a future parliamentary election,
do you think these two parties should form a majority government, or should they refrain from forming such a
coalition?

% MD% Antal Kode Kategori

15 15 189 1 should form
a coalition
government

37 37 464 2 should not
form a
coalition
government

48 48 603 3 don't know

0 2 9 Uoplyst
100 100 1258

Svarprocent: 100

e V34 6310 COALITION REASON
) cial tion mni

o 71. (If should form a coalition government or should not form a coalition government in question 70 (V33)) Why?

% MD% Antal Kode Kategori

3 6 42 1 a coalition
government
would be a
good thing

1 2 15 2 good to try
something
new

1 2 13 3 two good
and
experienced
parties

2 4 28 4 unity gives
strength, a
balance
would be
achieved

7 14 93 5 don't have
the same
policies

9 17 109 6 would never
be able to
agree

3 6 41 7 a bad
combination

1 2 12 8 dislike
Venstre
policies



0 1 6 9 dislike the
Social-
Democrats

3 6 42 10 nothing
good would
come of it

2 4 25 11 other
18 34 223 12 don't know
0 1 88
48 608 99 Uoplyst
100 100 1258

Svarprocent: 52

e V35 6310 GOVERNMENT RESIGN
o Special guestions, omnibu

o 72. As you know, the governments Land Laws were rejected at the referendum in June. Do you think the
government, because of this, ought to resign?

% MD% Antal Kode Kategori
13 13 166 1 yes
46 46 576 2 no

41 41 516 3 don't
know

100 100 1258

Svarprocent: 100

e V36 6310 WHY RESIGN
o Special questions, omnibu

o 73. (If yes in question 72 (V35)) Why?

% MD% Antal Kode Kategori

1 7 13 1 it was the
opinion of the
whole country

3 25 44 2 the vote was
a vote of no-
confidence

1 9 16 3 that was what
we voted for

2 12 22 4 it was a
gigantic
fiasco/loss of
face

2 13 24 5 they are not
strong
enough/are
stranded

0 3 5 6 incompetent
administration

1 10 17 7 other
21 37 8 don't know
86 1080 9 Uoplyst
100 100 1258

Svarprocent: 14

e V37 6310 WHY NOT RESIGN
o Special questions, omnibu

o 74. (If no in question 72 (V35)) Why?

% MD% Antal Kode Kategori

4 8 46 1 the government
is satisfactory as



it is

1 1 8 2 the Social-
Democrats, at
any rate,
formed a
government

2 5 28 3 it would change
nothing to get a
new
government

5 12 67 4 insufficient
reasons/grounds

3 6 34 5 the government
does not have to
fall because one
law is rejected

3 7 37 6 some people are
in favour of the
Land Laws

2 4 21 7 we can all make
mistakes

1 3 18 8 people didn't
realize what
they were
voting for

2 5 30 9 it was not a
political
question

1 2 11 10 there was no
counter-
proposal

3 6 32 11 other
18 41 230 12 don't know
55 696 99 Uoplyst
100 100 1258

Svarprocent: 45

e V38 6310 ATT.FINANCIAL POLIC
) ial tion mni

o 75. Do you think the financial policy the government has carried out through the sales-tax and the total solution has
been correct or incorrect?

% MD% Antal Kode Kategori
21 21 266 1 correct
27 27 343 2 incorrect
51 51 642 3don't
know
1 7 9 Uoplyst
100 100 1258

Svarprocent: 99

e V39 6310 FINANC.POL.INCORREC
o Special questions, omnibu

o 76. (If incorrect in question 75 (V38)) Why is it incorrect?

% MD% Antal Kode Kategori

4 13 46 1 has not had
the effect
wanted/the
situation
has not
improved

2 8 27 2 has made
everything
more



expensive

0 1 5 3 reduced
buying-
power

2 7 23 4 unnecessary
to have
higher
taxes/forced
savings

2 6 22 5 cost entirely
too much

1 5 17 6 the sales-
tax is too
stiff

1 5 17 7 unrealistic
policy/too
dictatorial

1 4 14 8 the 'total
solution’
was
mistaken

0 1 5 9 government
shouldn't
interfere

1 4 15 10 promised so
much,
achieved so
little

3 12 41 11 other
9 32 111 12 don't know
0 1 88
73 914 99 Uoplyst
100 100 1258

Svarprocent: 27

Instrumentering

Hovedsekvens

Main Sequence

o V3: Omnibus number

o V4: Sequence number

o V5: Duplicate indicator/weight variable

o V6: 1. Urbanization

o V7: 8A. Sex

o V8: 8B. Age

o V9: 8C. Marital status

o V10: 9A. Occupational status for head of family

o V11: 9B. Way of income of head of family

o V12: 10A. Income of head of family

o V13: 10B. Income of family

o V14: 11A. Supporters occupation

o V15: 11B. Schooling

o V16: 12A. Children younger than 2 years

o V17: 12B. Composition of household Husband

o V18: 12B. Composition of household Housewife

o V19: 12B. Composition of household Children 0-7 years
o V20: 12B. Composition of household Children 8-14 years
o V21: 12B. Composition of household Adults 15-17 years
o V22: 12B. Composition of household Other adults

o V23: 12C. Number of adults older than 15 years

o V24: 13A. Number of children younger than 15 years

o V25: 13B. Size of household

o V26: 13C. Social group

o V27: 14A. Housewifes occupation

o V28: 14B. Type of home
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V29: 14C. Is the family in possession of: a garden?

30: 14C. Is the family in possession of: a summer house?

31: 15-16. Did you vote at the latest general election? - For which party?

: 16-17. For which party would you vote in case of a general election tomorrow?

V33: 70. In case the Social-Democrats and Venstre combined should have a majority in a future parliamentary

election, do you think these two parties should form a majority government, or should they refrain from forming

such a coalition?

o V34: 71. (If should form a coalition government or should not form a coalition government in question 70 (V33))
Why?

o V35: 72. As you know, the governments Land Laws were rejected at the referendum in June. Do you think the
government, because of this, ought to resign?

o V36: 73. (If yes in question 72 (V35)) Why?

o V37: 74. (If no in question 72 (V35)) Why?

o V38: 75. Do you think the financial policy the government has carried out through the sales-tax and the total
solution has been correct or incorrect?

o V39: 76. (If incorrect in question 75 (V38)) Why is it incorrect?
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Undersekvenser

Universer

Univers
e Aldersgreenser

Dansk statsborgere pa 15 8r og derover, bosiddende i private husstande.

Koncepter

e Questions occurring in al
Questions occurring in all 1963 omnibus surveys

o V6V7V8VIOVIO0V11V12V13V14VI5V16 V17 V18 V19 V20 V21 V22 V23 V24 V25 V26 V27 V28

V29 V30 V31 V32
e Special questions, omnibu
Special questions, omnibus no. 10

o V33 V34 V35 V36 V37 V38 V39
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